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df dt dchisq EA:d0b

dbinom dpois dunif dnorm

pbinom  ppois punif pnorm pf pt pchisq
gbinom  qpois qunif gnorm qf qt qchisg NEI
rbinom  rpois runif rnorm rf rt rchisq al =&

var.test t.test chisq.test
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sim.chil<-function(ite) {
sc <-numeric(ite)
for(i in 1:ite){
x <-runif (200)
y <-ifelse(x<0.4,1,ifelse(x<0.7,2,ifelse(x<0.9,3,4)))
z1<-table(y)
z2 <-¢(40,30,20,10)*2 211
23<-(z1-22)"2/22 |
: sc[i] <-sum(z3)

return(sc)
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> source ( “simchi.R")
> sim1 <= sim.chi1(1000)
> hist(sim1,ylim=c(0,0.5), breaks="Scott”, freq=F)
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> curve(dchisq(x,3), add=T)




